GOVERNMENT OF WEST BENGAL DEPARTMENT OF SUNDARBAN AFFAIRS SUNDARBAN DEVELOPMENT BOARD OFFICE OF THE EXECUTIVE ENGINEER CIVIL ENGINEERING DIVISION NO.-III FIFTH FLOOR, POURA BHAWAN, SALTLAKE KOLKATA 700106

Memo No : 1959 /EE/CED-III/SDB/2020-21

Date:19.01.2021

NOTICE INVITING TENDER NO. - 05/EE/CED-III/SDB OF 2020-21.

- Separate sealed Tenders in printed form 2911(ii) are invited by the Executive Engineer, Civil Engineering Division No- III, Sundarban Development Board, on behalf of the Government of West Bengal, for the works as per Annexure Sheet-I attached herewith, from eligible, resourceful and bonafide contractors having required credential in similar nature of work for the value of at least last 05 (five) Years with 40 % credential for similar nature of work.
- a. Separate Tender should be submitted for each work, as per attached List, in sealed cover super scribing the name of the work on the envelope and addressed to the proper authority.
 - b. Submission of Tender by Post is not allowed.
- 3. The Tender documents and other relevant particulars (if any) may be seen by the intending Tenderers or by their duly authorized representatives during office hours between 11.00 AM and 4.00 PM till 23.01.2021 in the Office of Executive Engineer, Civil Engineering Division No- III, Sundarban Development Board, Govt.of West Bengal.
 - a. Intending Tenderness should apply for Tender Papers on their respective Letter Heads.

Enclosing self attested photocopies of the following documents, originals of which and other documents like Registered Partnership (for Partnership Firms) etc. are to be Produced on demand, as well as during interview (if called).

- i. Trade Licence and P.T Clearance Certificate ,GST Registration Certificate, I.T. Return & PAN valid at least up to the date of opening of the Tenders. Application for such clearance addressed to the competent authority, subject to production of authenticated receipt, may also be considered.
- ii. Completion Certificate (s) for one single similar work Preferably worth at least 40% of the value of the work for which Tender Paper is desired, executed within last 5 (Five) financial years (to be determined from the actual year of completion, considering current financial year as Year-0).
- iii. Declaration by the Applicant to the effect that there is no other application of Tender Paper for work in this NIT in which he / she / they has / have common interests. Failure to produce any of the above documents may be considered good and sufficient reason for non-issuance of tender paper.

4. Credential Certificate

- i. Completion Certificates for fully (100%) completed works during the current year and last five financial years will only be accepted as credential.
- ii. Credential Certificates should clearly show the Name, Address, and Contact No. of the Office and Designation of the Officer issuing the work credential along with the name of work and the amount put to tender. Illegible certificates and certificates having incomplete information may be rejected.
- Completion Certificate of work executed in Irrigation & Waterways Department will be considered. iii. Completion Certificate of works executed in other Departments of State Government or organizations, like Public Works & Public Works (Roads) Department, Public Health Engineering Department, Sundarban Affairs Department and various other State Government Departments, Zilla Parishads, West Bengal Housing Infra-structure Development Corporation Limited (WBHIDCO), West Bengal State Electricity Distribution Company Limited (WBSEDCL), Kolkata Metropolitan Development Authority (KMDA), Kolkata Metropolitan Water Sanitation Authority (KMW&SA), Kolkata Municipal Corporation (KMC), Other Municipal Authorities, Local Panchayat Bodies, Hooghly River Bridge Commissioner (HRBC), Engineering Departments of Central Government and Organizations like Farakka Barrage Project (FBP) Authority, Railways, Kolkata Port Trust (KOPT), and companies owned or managed by the State Government, i.e. Mackintosh Burn Ltd., Westinghouse Saxby Farmer Limited & Britannia Engineering Ltd. may also be considered. Such Completion Certificates are to be issued by an officer not below the rank of Executive Engineer / Divisional Engineer / District Engineer / Project Manager of the other State / Central Government Departments / Organisations. Such certificates are further to be countersigned by immediate superior authority of the Issuing Authority for all cases other than direct State / Central Government Departments and Railways

5. Eligibility Criteria

6.

- i. Normally separate completion certificate of fully physically completed works (100%) is to be provided for separate work (vide 8.a & 8.1(i)). However, completion certificate for one particular work may be considered as eligible for participation in maximum two numbers of serials, provided required credential for two such works (to be arithmetically added for similar nature of works) satisfies the requirement in all respect from one such completion certificate.
- ii. Eligibility of agency based on work credential will be calculated as per norms stated in the tender. While determining the eligibility criteria, the "Amount put to tender" of the work executed by the bidder will be considered towards calculation of the work credential.
- Before submitting any Tender, the intending Tenderers should make themselves acquainted thoroughly with the local conditions prevailing, by actual inspection of the site and take into consideration all factors and difficulties likely to be involved in the execution of work in all respects including transportation of materials, communication facilities climate conditions, natured of soil, availability of local labourers and market rate prevailing in the locality etc. as no claim whatsoever will be entertained on these accounts afterwards.
- 7. Any suppression / misrepresentation of fact will automatically debar the applicant from participating in n any Tender under the Division / Circle for at least 3 (Three) years from the date of detection, in addition to such other penal action as the Government may deem proper.
- 8. Work orders will be issued subject to availability of Administrative Approval.

- 9. Intending Tenderer not satisfied with the decision of the Tender Paper issuing Authority may prefer an appeal to the next superior Officer. Concerned Chief Engineer will be the Appellate Authority for High Value Tenders. Necessary communication regarding his appeal to the Appellate Authority must be brought to the notice of such Authority within two working days after the date of issue of tender paper, and copy of such communication should also be submitted to the Tender Paper Issuing Authority, failing which no such appeal shall be entertained.
- a. Tender paper can be had <u>free of cost</u> in the office of Executive Engineer, Civil Engineering Division No-III, Sundarban Development Board, Govt.of West Bengal, within the specified date and time as per attached list by the intending Tenderers or by ; their duly authorized representatives;

b. No Tender paper will be supplied by Post;

c. No tender paper will be issued on the date of opening of tenders after expiry of date and time mentioned in the Notice.

11. Earnest Money for the amount as noted in the list of works should be submitted along with the Tender Form, without which the tender shall be summarily rejected.

b. Earnest Money in the form other than those mentioned below will not be accepted.

c. Demand Draft, Banker's Cheque, Deposit Call Receipt (DCR) in favour of Executive Engineer, of any scheduled Bank Guaranteed by the Reserve Bank of India may be accepted as Earnest Money.

12. a. The Tenderer should quote the rate both in figures and in words on the basis of percentage above / below or At Par the Schedule of Rates attached with the Tender Form and also in the space provided in the Tender Form. The rate should be quoted in one single handwriting and preferably with the same ink. Rates quoted in different handwriting shall be treated as informal.

b. Any tender containing over writing is liable to be rejected.

c. <u>All correction are to be attested under the dated signature of the Tenderer without which tender may be</u> informal.

- 13. When a Tenderer signs his Tender in an Indian Language, the total amount tendered should also be written in the same language. In the case of illiterate Tenderer, the rates tendered should be attested by an witness.
- 14. The Tenderer who will sign on behalf of a Company or Firm, must produce the registered documents (within 3 days from the date of opening the tender) in support of his competency to enter into an Agreement on behalf of the Company or the Firm under the Indian Partnership Act, failing which the Tender will not be considered and the deposited Earnest Money will be forfeited.
- 15 Any letter or other instrument submitted separately in modification of the sealed tender may not be entertained.
- 16. The Tenderer should submit a statement at the time of submission of his tender showing the Technical Staff to be maintained for the work, with their technical qualifications, failing which the tender may be liable to rejection.
- 17. <u>Conditional Tender, which does not fulfill any of the above conditions, and is incomplete in any respect, is</u> liable to summary rejection.

- 18. (a) Sales Tax, Royalty, Building Workmen Compensation Cess and all other statutory Levy / Cess etc. will have to be borne by the Contractor (he will have to produce necessary documentary evidence of his having done so at the time of receiving the payment for the work).
- 19. The Tender Accepting Authority does not bind himself to accept the lowest tender and reserves whatsoever to the intending Tenderers and also reserves the right to distribute the work amongst more than one Tenderers.
- 20. The Tenderer will have to, if so desired by the Tender Accepting Authority, submit his analysis to justify the rate quoted by him.
- 21. The Tenders will be opened, as specified in the list of works, in presence of the participating Tenderers or their duly authorized representatives, who may be present at the time of opening and who may also put their signatures in the Tender Opening Register.
- 22. The successful Tenderer will have to execute an agreement in duplicate / triplicate / quadruplicate copies of his tender which will have to obtained by additional cash payment in the office of Executive Engineer, Civil Engineering Divison No- III, Sundarban Development Board, Govt.of West Bengal within 7 (Seven) days from the date of receipt of the intimation of acceptance of his tender failing which the Earnest Money shall forthwith stand forfeited in favour of the Government and the communication of acceptance of the tender shall automatically stand cancelled.
- 23. If any Tenderer withdraws his tender before its acceptance or refuses / fails to convert it into ka contract within a reasonable time, without giving any satisfactory explanation for such withdrawal / refusal / failure, he shall be disqualified for submitting any Tender in this Division / Circle for ka minimum period of one year and his case will be referred to the Government for order as to what further action will be taken against him.
- 24. The successful Tenderer will have to abide by the provisions of the West Bengal Contract Labour (Regulation and abolition) Rules, 1972 and such other Acts as may be applicable, as will be in force from time to time.

Materials such as Cement, M.S. Rod, R.C.C. Hume Pipes, M.S. Sheet Piles, etc. if available in stock, will be issued by the Department to the Contractor for the work as per Issue Rate fixed by the Engineer-in-Charge. Site of issue of materials as mentioned in the list of materials to be supplied departmentally to the Contractor is furnished with the tender documents for the work. Any other materials not listed therein, if supplied by the Department, the Issue Rate for such material will be fixed by the Engineer-in-Charge. Otherwise materials will be supplied by the contractor.

- 25. Hire charge for Tools & Plants Machinery, if issued departmentally, will be recovered from the Contractor at such rates as will be fixed by the Engineer-in-Charge. The period of hire charges of all Tools & Plants Machinery issued from the Government Godown will be counted from the date of their issuance from the Godown and up to the date of return into the same Godown and the hire charges will be recovered from the Contractor accordingly. All Tools & Plants Machinery issued to the Contractor must be returned in good condition. In the case of any damage, the cost of repair to such damage or replacement will be recovered from Contractor.
- 26. In the following cases a tender may be declared informal and unacceptable.
 - a. Correction, alterations, additions, etc. if not attested by the Tenderer.
 - b. Earnest Money in any form other than that mentioned above shall not be entertained.

c. If the Tender Form is not properly filled in respect of the general description of the work, Estimated Cost, Rate of deduction of Security Deposit, etc. in page-2 and other pages as are required to be filled in.

- d. If the specified pages of the Tender Document are not signed by the Tenderer.
- e. If the Tender is not submitted in a Cover properly sealed and the name of the work is

not indicated on the cover.

- 27. For the return of the Earnest Money of the unsuccessful Tenderer(s), he/they is/are to apply for the same to the Executive Engineer, Civil Engineering Divison No- III, Sundarban Development Board, Govt.of West Bengal, giving the reference to the work, N.I.T. No., date of tender, amount and mode of Earnest Money deposited all in a complete form. The Earnest Money of all Tenderers other than the lowest Tenderer in each case, may be refunded, after acceptance of the rate in the comparative statement, as early as possible.
- 28. To verify the competency, capacity and financial stability of the Intending Tenderer(s)

the Tender Paper Issuing Authority may demand production of ;any necessary document(s) as it may deem necessary.

- 39. The payment of R/A as well as Final Bill for any work will be made according to the availability of fund and no claim due to delay in payment will be entertained.
- 30. Tender Paper for three nos. of similar nature of works in any one NIT will be issued to an applicant, who may indicate the SI. Nos. of the work in their application in the order of his preference.
- 31. The necessary payment will be made according to the availability of fund.
- 32. The Bidder should be visit the site or location before submission of tender.
- 33. Work order will be issued after getting the Administrative Approval.

However, depending on response to various serials in the NIT, Tender Paper Issuing Authority may issue Tender Paper for any serial even though it may not be preferred by the applicant.

Executive Engineer Civil Engineering Division No. - III Sundarban Dev. Board

Samila 19/01/2021

Memo No : 1959 /EE/CED-III/SDB/2020-21

Date:19.01.2021

- Copy forwarded for information to:-
 - The Joint Secretary, Sundarban Affairs Department, Mayukh, Gr. Floor, Salt Lake City, Kolkata 700091 with the request to upload this NIT notice of Work in the Department website : www.sundarbanaffairs.in (sent to the e_mail : sundarbanaffairs@gmail.com)
 - 2. The Member Secretary & Project Director, Sundarban Development Board.
 - 3. The Chief Engineer, Sundarban Development Board.
 - 4. The Superintending Engineer, Sundarban Development Project Circle. Sundarban Development Board.
 - 5. The A & G, 3rd MSO Building, 5th Floor, CGO Complex, DF Block, Salt Lake , kol-700064.
 - 6. The Executive Engineer, CED I/CED-II/CED-IV Sundarban Development Board.
 - 7. Sub-Divisional Officer, Nazat Sub-Division / Minakhan Sub-Division.
 - 8. Sr. Divisional Account Officer, CED-III, Sundarban Development Board.
 - 9. Divisional Estimator, CED-III, Sundarban Development Board.
 - 10. Website: www.sundarbanaffairswb.in

11. Notice Board.

- 12. Tender guard file.
- 13. District Information & Cultural office, with request for necessary advertisement in daily newspaper (on Bengali) as per Govt. Norms (enclosed herewith the advertisement matter)

Memo No.: - /959/ EE/CED-III/SDB/2020-21

- Copy forwarded for information to:-
 - 1. The D.M., North 24-Parganas.
 - 2. The Savadhipati, North 24-Parganas Zilla Parishad.

Civil Engineering Division No. - III Sundarban Dev. Board Kamila Dated: - 19.01.2021 19/01/2021

Executive Engineer

Executive Engineer Civil Engineering Division No. III Sundarban Development Board Date: 19.01.2021

<u>ANNEXED SHEET-1</u> Name of the work for NIT – 05/EE/CED-111/SDB OF 2020-21

Memo No: 1959 /EE/CED-III/SDB/2020-21

Last date of submission of application : 27.01.2021 up to 2.00 PM

Date of Permission : 29.01.2021 up to 3.00 PM

Last date of submission of tender paper: 03.02.2021 up to 12.30 PM

Date of opening : 03.02.2021 up to 2.00 PM

SI No	Name of work	Amount Put to Tender	Earnest Money	Eligibility of contractor	Printed Tender From in which Tender is to be submitted	Price per copy of Tender Form	Time of Completi on	Defect liability Periods
01	Emergent Repairs & Protection Works of Existing B.P Road From Uchildaha Shibmandir Towards Majherpara Via Nalyer Khal, G.P- Atpukur, Block- Minakhan, of Minakhan Sub- Division under Civil Engineering Division No- III, Sundarban Development Board. Length- 350.00m. (Non-Plan)	484939	6696	Bonafied contractor having experience in last 05 (five) Years with 40 % credential for similar nature of work.	2911(ii)	ree lark	20 (twenty) Days	6(Six) Months
03	Emergent Repairs & Protection Works of Existing C.C Road From Uchildah Nimtala Towards Ghar Aila Centre, G.P Atpukur, Block- Minakhan, of Minakhan Sub-Division under Civil Engineering Division No-III,Sundarban Development Board. Length- 400.00m. (Non- Plan)	484256	9685	Bonafied contractor having experience in last 05 (five) Years with 40 % credential for similar nature of work.	2911(ii)	Download from the Departmental Website <u>www.sundarbanaf</u> <u>fairs.in</u> Free of cost.	20 (twenty) Days	6(Six) Months
03	Emergent Repairs & Protection Works of Existing B.P Road near Gar Video Hall towards Kangal Munda's House, G.P- Atpukur, Block- Minakhan, of Minakhan Sub-Division under Civil Engineering Division No-III,Sundarban Development Board. Length- 415.00m. (Non Plan)	484171	9683	Bonafied contractor having experience in last 05 (five) Years with 40 % credential for similar nature of work.	2911(ii)	Download from the Departmental Website <u>www.sundarbanaf</u> <u>fairs.in</u> Free of cost.	20 (twenty) Days	6(Six) Months

6(Six) Months	6(Six) Months	6(Six) Months	6(Six) Months	6(Six) Months
20 (twenty) Days	20 (twenty) Days	20 (twenty) Days	20 (twenty) Days	20 (twenty) Days
Download from the Departmental Website <u>www.sundarbanaf</u> <u>fairs.in</u> Free of cost.	Download from the Departmental Website <u>www.sundarbanaf</u> <u>fairs.in</u> Free of cost.	Download from the Departmental Website <u>www.sundarbanaf</u> <u>fairs.in</u> Free of cost.	Download from the Departmental Website <u>www.sundarbanaf</u> <u>fairs.in</u> Free of cost.	Download from the Departmental Website <u>www.sundarbanaf</u> <u>fairs.in</u> Free of cost.
2911(ii)	2911(ii)	2911(ii)	2911(ii)	2911(ii)
Bonafied contractor having experience in last 05 (five) Years with 40 % credential for similar nature of work.	Bonafied contractor having experience in last 05 (five) Years with 40 % credential for similar nature of work.	Bonafied contractor having experience in last 05 (five) Years with 40 % credential for similar nature of work.	Bonafied contractor having experience in last 05 (five) Years with 40 % credential for similar nature of work.	Bonafied contractor having experience in last 05 (five) Years with 40 % credential for similar nature of work.
9687	9687	9650	9687	9709
484355	484355	482496	484351	485466
Emergent Repairs & Protection Works of Existing B. P Road From PMGSY Road towards Karuna Maity's House at Bihari, at G.P. Atpukur, Block- Minakhan, of Minakhan Sub-Division under Civil Engineering Division No- III,Sundarban Development Board. Length- 530.00m. (Non Plan)	a a a a a a	Emergent Repairs & Protection Works of Existing C.C Road From Noapara Youth Club Towards Purba Noapara Rafik Molla's House(bamboo pilling), G.P. Sonapukur- Sankarpur, Block- Haroa, of Minakhan Sub- Division under Civil Engineering Division No- III, Sundarban Development Board. Length- 545.00m. (Non Plan)	Emergent Repair & Protection Work of Existing Concrete Road near purba Noapara Motiar Molla Gheri towards South Side of Bonobibi Tola Gheri(U.C pilling) in G.P. – Sonapukur Sankarpur, P.S. & Block - Haroa, of Minakhan Sub-Division under Civil Engineering Division No- III, Sundarban Development Board. Length- 425.00m. (Non Plan)	Emergent Repair & Protection Works of Existing C.C Road from Ninevent to Uttor Chotkay Ghayri (U.C pilling) in G.p- Sonapukur- Sankarpur, Block- Haroa , of Minakhan Sub-Division under Civil Engineering Division No-III, Sundarban Development Board. Length- 425.00m. (Non Plan)
04	05	90	07	80

Emergent Repair & Protection Work of Existing Concrete Road From Murgimari Tank towards North Side of Bonobibi Tola Gheri(U.C pilling) in G.P Sonapukur Sankarpur, P.S. & Block -	484986	9700	Bonafied contractor having experience in last 05 (five) Years with 40 % credential	2011/[]]	Download from the Departmental Website www.sundarbanaf	20 (tructul	6(Six)
 Haroa, of Minakhan Sub-Division under Civil Engineering Division No-III, Sundarban Development Board. Length- 425.00m. (Non		8	for similar nature of work.	(11)1107	<u>fairs.in</u> Free of cost.	Days	Months

Executive Engineer Civil Engineer Civil Engineer Civil Engineer Civil Sundarban Development Board

Ellerid

Print Help

Schedule of work

Name of Work: Emergent Repairs & Protection Works of Existing B.P. Road From Uchildaha Shibmandir Towards Majherpara Via Nalyer Khal, G.P. Atpukur, Block- Minakhan, of Minakhan Sub-Division under Civil Engineering Division No-III, Sundarban Development Board. Length- 350.00m. (Non-Plan) NIT No.-05/EE/CED-III/SDB OF 2020-21 Dated:19.01.2021 SL No.01

SI.	Item Description	Quantity	Units	Estimated	TOTAL AMOUNT	TOTAL AMOUNT
1	2	4	5	6	53	55
1	Fine dressing and making the crest to correct camber and gtrade by cutting and filling earth where necessary including extra earth.	700.00	Sqm	5.80	4060.00	INR Four Thousand &Sixty Only
2	Supplying, dressing and stacking at site bamboo pins above 5 cm. diameter and upto 7.5 cm. diameter. (Dia. to be measured at mid length).	6793.500	m	29.00	197012.00	INR One Lakh Ninety Seven Thousand &Twelve Only
3	Driving bamboo pins in standing or flowing water including scaffolding and driving appliances. (a) Where boats are not necessary.	3949.20	m	11.00	43441.00	INR Forty Three Thousand Four Hundred & Forty One Only
4	Supplying, fitting and fixing with iron nails half split bamboo wailing pieces (av. dia. of bamboo not less than $5.0~{\rm cm.}$)	1400.00	m	22.00	30800.00	INR Thirty Thousand Eight Hundred Only
5	Supplying empty Cement bags in good condition.	7875.00	100 Nos	330.00	25988.00	INR Twenty Five Thousand Nine Hundred & Eighty Eight Only
6	Filling empty Cement Bags with dry earth or sand, stitching the bag (cost of thread included) and carrying and placing them in position and all incidental charges complete but excluding cost of filling materials, (Earth or sand) and gunny bags.	7875.00	100 bags	350.00	27563.00	INR Twenty Seven Thousand Five Hundred & Sixty Three Only
7	Earthwork from borrow pits over existing embankment or for repairs to embankment, closing breaches etc. within an initial lead of 30 metre and lift of 1.50 metre including breaking clods and depositing the same in layers not exceeding 25 cm. and rough dressing etc. complete as per profile.	162.40	M ³	81.00	13154.00	INR Thirteen Thousand One Hundred & Fifty Four Only
8	Earthwork in excavation in all kinds of soil for making embankments, repairs to the embankment, closing breaches etc. as per profile including supply and transporting the earth by truck or tractor or any other mechanical means on land , including loading, transporting, unloading and stacking with all lifts bothways and head load where necessary and depositing the same on embankments, clannels, filling depressions in requisite profile, levelling as per direction of the Engineer-in-charge within a lead of, NB - Measurement to be taken on the basis of stack measurement / prepost work section measurement after deduction of void as per norms. No extra payment will be made for stacking A) Beyond 500Km and upto 1.00 km	397.60	м	218.00	86677.00	INR Eighty Six Thousand Six Hundred & Seventy Seven Only
9	GST as applicable - @ 12%	428695.00	Percent	12	51443.00	INR Fifty One Thousand Four Hundred & Forty Three Only
10	Labour Welfare cess - @ 1%	480138.00	Percent	1	4801.00	INR Four Thousand Eight Hundred & One Only
Total	 in Figures		1	I	484939.00	INR Four Lakh Eighty Fou Thousand Nine Hundred & Thirty Nine Only
Quote	ed Rate in Figures		Select		0.00	INR Zero Only
Quote	ed Rate in Words			INF	R Zero Only	

Inor 'do, PX 1

Executive Engineer Civil Engineering Division No.-III Sundarban Dev. Board Govt. of West Bengal

Kamila 19/01/2021

Print Help

Schedule of work

Name of Work: Emergent Repairs & Protection Works of Existing C.C Road From Uchildah Nimtala Towards Ghar Aila Centre, G.P. Atpukur, Block- Minakhan, of Minakhan Sub-Division under Civil Engineering Division No-III,Sundarban Development Board. Length- 400.00m. (Non-Plan) NIT No.-05/EE/CED-III/SDB OF 2020-21 Dated:19.01.2021 SL No.02

SI.	Item Description	Quantity	Units	Estimated	TOTAL AMOUNT	
1	2	4	5	6	53	55
1	Fine dressing and making the crest to correct camber and gtrade by cutting and filling earth where necessary including extra earth.	800.00	Sqm	5.80	4640.00	INR Four Thousand Six Hundred & Forty Only
2	Supplying, dressing and stacking at site bamboo pins above 5 cm. diameter and upto 7.5 cm. diameter. (Dia. to be measured at mid length).	5823.500	m	29.00	168882.00	INR One Lakh Sixty Eight Thousand Eight Hundred & Eighty Two Only
3	Driving bamboo pins in standing or flowing water including scaffolding and driving appliances. (a) Where boats are not necessary.	3385.20	m	11.00	37237.00	INR Thirty Seven Thousand Two Hundred & Thirty Seven Only
4	Supplying, fitting and fixing with iron nails half split bamboo wailing pieces (av. dia. of bamboo not less than 5.0 cm.)	1200.00	m	22.00	26400.00	INR Twenty Six Thousand Four Hundred Only
5	Supplying empty Cement bags in good condition.	9429.00	100 Nos	330.00	31116.00	INR Thirty One Thousand One Hundred & Sixteen Only
6	Filling empty Cement Bags with dry earth or sand, stitching the bag (cost of thread included) and carrying and placing them in position and all incidental charges complete but excluding cost of filling materials, (Earth or sand) and gunny bags.	9429.00	100 bags	350.00	33002.00	INR Thirty Three Thousand &Two Only
7	Earthwork from borrow pits over existing embankment or for repairs to embankment, closing breaches etc. within an initial lead of 30 metre and lift of 1.50 metre including breaking clods and depositing the same in layers not exceeding 25 cm. and rough dressing etc. complete as per profile.	156.4 <mark>0</mark>	M3	81.00	12668.00	INR Twelve Thousand Six Hundred & Sixty Eight Only
8	Earthwork in excavation in all kinds of soil for making embankments, repairs to the embankment, closing breaches etc. as per profile including supply and transporting the earth by truck or tractor or any other mechanical means on land , including loading, transporting, unloading and stacking with all lifts bothways and head load where necessary and depositing the same on embankments, clannels, filling depressions in requisite profile, levelling as per direction of the Engineer-in-charge within a lead of, NB :- Measurement to be taken on the basis of stack measurement / prepost work section measurement after deduction of void as per norms. No extra payment will be made for stacking A) Beyond 500Km and upto 1.00 km	523.60	М	218.00	114145.00	INR One Lakh Fourteen Thousand One Hundred & Forty Five Only
9	GST as applicable - @ 12%	428090 00	Percent	12	51371.00	INR Fifty One Thousand Three Hundred & Seventy One Only
10	Labour Welfare cess - @ 1%	479461.00	Percent	1	4795.00	INR Four Thousand Sever Hundred & Ninety Five Only
Total	in Figures				484256.00) INR Four Lakh Eighty Fou Thousand Two Hundred & Fifty Six Only
Quot	ed Rate in Figures		Select		0.00) INR Zero Only
Quot	ed Rate in Words		1	INF	R Zero Only	

Executive Engineer Civil Engineering Division No.-III Sundarban Dev. Board Govt. of West Bengal Kawila 19|01|2021

Validate

Print Helo

Schedule of work

Name of Work: Emergent Repairs & Protection Works of Existing B.P Road near Gar Video Hall towards Kangal Munda's House, G.P. Atpukur, Block-Minakhan, of Minakhan Sub-Division under Civil Engineering Division No-III,Sundarban Development Board. Length- 415.00m. (Non Plan) NIT No.-05/EE/CED-III/SDB OF 2020-21 Dated:19.01.2021 SL No.03

SI.	Item Description	Quantity	Units	Estimated	TOTAL AMOUNT	TOTAL AMOUNT
1	2	4	5	6	53	55
1	Fine dressing and making the crest to correct camber and gtrade by cutting and filling earth where necessary including extra earth.	1162.00	Sqm	5.80	6740.00	INR Six Thousand Seven Hundred & Forty Only
2	Supplying, dressing and stacking at site bamboo pins above 5 cm. diameter and upto 7.5 cm. diameter. (Dia. to be measured at mid length).	5241.500	m	29.00	152004.00	INR One Lakh Fifty Two Thousand &Four Only
3	Driving bamboo pins in standing or flowing water including scaffolding and driving appliances. (a) Where boats are not necessary.	3046.80	m	11.00	33515.00	INR Thirty Three Thousand Five Hundred & Fifteen Only
4	Supplying, fitting and fixing with iron nails half split bamboo wailing pieces (av. dia. of bamboo not less than 5.0 cm.)	1080.00	m	22.00	23760.00	INR Twenty Three Thousand Seven Hundred & Sixty Only
5	Supplying empty Cement bags in good condition.	8500.00	100 Nos	330.00	28050.00	INR Twenty Eight Thousand &Fifty Only
6	Filling empty Cement Bags with dry earth or sand, stitching the bag (cost of thread included) and carrying and placing them in position and all incidental charges complete but excluding cost of filling materials, (Earth or sand) and gunny bags.	8500.00	100 bags	350.00	29750.00	INR Twenty Nine Thousand Seven Hundred & Fifty Only
7	Earthwork from borrow pits over existing embankment or for repairs to embankment, closing breaches etc. within an initial lead of 30 metre and lift of 1.50 metre including breaking clods and depositing the same in layers not exceeding 25 cm. and rough dressing etc. complete as per profile.	161.80	M3	81.00	13106.00	INR Thirteen Thousand One Hundred & Six Only
8	Earthwork in excavation in all kinds of soil for making embankments, repairs to the embankment, closing breaches etc. as per profile including supply and transporting the earth by truck or tractor or any other mechanical means on land , including loading, transporting, unloading and stacking with all lifts bothways and head load where necessary and depositing the same on embankments, clannels, filling depressions in requisite profile, levelling as per direction of the Engineer-in-charge within a lead of, NB :- Measurement to be taken on the basis of stack measurement / prepost work section measurement after deduction of void as per norms. No extra payment will be made for stacking A) Beyond 500Km and upto 1.00 km	647.20	м	218.00	141090.00	INR One Lakh Forty One Thousand &Ninety Only
9	GST as applicable - @ 12%	428015.00	Percent	12	51362.00	INR Fifty One Thousand Three Hundred & Sixty Two Only
10	Labour Welfare cess - @ 1%	479377.00	Percent	1	4794.00	INR Four Thousand Seven Hundred & Ninety Four Only
fotal	in Figures				484171.00	INR Four Lakh Eighty Four Thousand One Hundred & Seventy One Only
Quote	ed Rate in Figures		Select		0.00	INR Zero Only
Quote	ad Rate in Words		1	INF	Zero Only	1

Executive Engineer Civil Engineering Division No.-III Sundarban Dev. Board Govt. of West Bengal Kamila 19/01/2021

Validate

Print Help

Schedule of work

Name of Work: Emergent Repairs & Protection Works of Existing B.P Road From PMGSY Road towards Karuna Maity's House at Bihari, at G.P- Atpukur, Block-Minakhan, of Minakhan Sub-Division under Civil Engineering Division No-III,Sundarban Development Board. Length- 530.00m. (Non Plan) NIT No.-05/EE/CED-III/SDB OF 2020-21 Dated:19.01.2021 SL No.04

SI.	Item Description	Quantity	Units	Estimated	TOTAL AMOUNT	TOTAL AMOUNT
1	2	4	5	6	53	55
1	Fine dressing and making the crest to correct camber and gtrade by cutting and filling earth where necessary including extra earth.	700.00	Sqm	5.80		INR Four Thousand &Sixty Only
2	Supplying, dressing and stacking at site bamboo pins above 5 cm. diameter and upto 7.5 cm. diameter. (Dia. to be measured at mid length).	6987.500	m	29.00	202638.00	INR Two Lakh Two Thousand Six Hundred & Thirty Eight Only
3	Driving bamboo pins in standing or flowing water including scaffolding and driving appliances. (a) Where boats are not necessary.	4062.00	m	11.00	44682.00	INR Forty Four Thousand Six Hundred & Eighty Two Only
4	Supplying, fitting and fixing with iron nails half split bamboo wailing pieces (av. dia. of bamboo not less than 5.0 cm.)	1440.00	m	22.00	31680.00	INR Thirty One Thousand Six Hundred & Eighty Only
5	Supplying empty Cement bags in good condition.	8100.00	100 Nos	330.00	26730.00	INR Twenty Six Thousand Seven Hundred & Thirty Only
6	Filling empty Cement Bags with dry earth or sand, stitching the bag (cost of thread included) and carrying and placing them in position and all incidental charges complete but excluding cost of filling materials, (Earth or sand) and gunny bags.	8100.00	100 bags	350.00	28350.00	INR Twenty Eight Thousand Three Hundred & Fifty Only
7	Earthwork from borrow pits over existing embankment or for repairs to embankment, closing breaches etc. within an initial lead of 30 metre and lift of 1.50 metre including breaking clods and depositing the same in layers not exceeding 25 cm. and rough dressing etc. complete as per profile.	122.50	M³	81.00	9923.00	INR Nine Thousand Nine Hundred & Twenty Three Only
8	Earthwork in excavation in all kinds of soil for making embankments, repairs to the embankment, closing breaches etc. as per profile including supply and transporting the earth by truck or tractor or any other mechanical means on land , including loading, transporting, unloading and stacking with all lifts bothways and head load where necessary and depositing the same on embankments, clannels, filling depressions in requisite profile, levelling as per direction of the Engineer-in-charge within a lead of, NB :- Measurement to be taken on the basis of stack measurement / prepost work section measurement after deduction of void as per norms. No extra payment will be made for stacking A) Beyond 500Km and upto 1.00 km	367.50	м	218.00	80115.00	INR Eighty Thousand One Hundred & Fifteen Only
9	GST as applicable - @ 12%	428178.00	Percent	12	51381.00	INR Fifty One Thousand Three Hundred & Eighty One Only
10	Labour Welfare cess - @ 1%	479559.00	Percent	1	4796.00	INR Four Thousand Seven Hundred & Ninety Six Only
fotal i	in Figures				484355.00	INR Four Lakh Eighty Four Thousand Three Hundred & Fifty Five Only
Quote	d Rate in Figures		Select		0.00	INR Zero Only
Quote	d Rate in Words			INR	Zero Only	

let port 9 Executive Engineer Civil Engineering Division No.-III Sundarban Dev. Board Govt. of West Bengal Mamila 19/01/2021

Print Help

Schedule of work

Name of Work: Emergent Repairs & Protection Works of Existing B.P. Road From Maddha Uchildah 2 No. Mongla Khali towards 7 No. Mongla Khali PMGSY Road at G.P- Atpukur, Block- Minakhan, of Minakhan Sub-Division under Civil Engineering Division No-III, Sundarban Development Board. Length- 530.00m. (Non Plan)

NIT No.-05/EE/CED-III/SDB OF 2020-21 Dated:19.01.2021 SL No.05

SI.	Item Description	Quantity	Units	Estimated	TOTAL AMOUNT	TOTAL AMOUNT
1	2	4	5	6	53	55
1	Fine dressing and making the crest to correct camber and gtrade by cutting and filling earth where necessary including extra earth.	700.00	Sqm	5.80	4060.00	INR Four Thousand &Sixty Only
2	Supplying, dressing and stacking at site bamboo pins above 5 cm. diameter and upto 7.5 cm. diameter. (Dia. to be measured at mid length).	6987.500	m	29.00	202638.00	INR Two Lakh Two Thousand Six Hundred & Thirty Eight Only
3	Driving bamboo pins in standing or flowing water including scaffolding and driving appliances. (a) Where boats are not necessary.	4062.00	m	11.00	44682.00	INR Forty Four Thousand Six Hundred & Eighty Two Only
4	Supplying, fitting and fixing with iron nails half split bamboo wailing pieces (av. dia. of bamboo not less than 5.0 cm.)	1440.00	m	22.00	31680.00	INR Thirty One Thousand Six Hundred & Eighty Only
5	Supplying empty Cement bags in good condition.	8100.00	100 Nos	330.00	26730.00	INR Twenty Six Thousand Seven Hundred & Thirty Only
6	Filling empty Cement Bags with dry earth or sand, stitching the bag (cost of thread included) and carrying and placing them in position and all incidental charges complete but excluding cost of filling materials, (Earth or sand) and gunny bags.	8100.00	100 bags	350.00	28350.00	INR Twenty Eight Thousand Three Hundred & Fifty Only
7	Earthwork from borrow pits over existing embankment or for repairs to embankment, closing breaches etc. within an initial lead of 30 metre and lift of 1.50 metre including breaking clods and depositing the same in layers not exceeding 25 cm. and rough dressing etc. complete as per profile.	122.50	Ma	81.00	9923.00	INR Nine Thousand Nine Hundred & Twenty Three Only
8	Earthwork in excavation in all kinds of soil for making embankments, repairs to the embankment, closing breaches etc. as per profile including supply and transporting the earth by truck or tractor or any other mechanical means on land , including loading, transporting, unloading and stacking with all lifts bothways and head load where necessary and depositing the same on embankments, clannels, filling depressions in requisite profile, levelling as per direction of the Engineer-in-charge within a lead of, NB -: Measurement to be taken on the basis of stack measurement / prepost work section measurement after deduction of void as per norms. No extra payment will be made for stacking A) Beyond 500Km and upto 1.00 km	367.50	М	218.00	80115.00	INR Eighty Thousand One Hundred & Fifteen Only
9	GST as applicable - @ 12%	428178.00	Percent	12	51381.00	INR Fifty One Thousand Three Hundred & Eighty One Only
10	Labour Welfare cess - @ 1%	479559.00	Percent	1	4796.00	INR Four Thousand Sever Hundred & Ninety Six Only
otal	in Figures				484355.00	INR Four Lakh Eighty Four Thousand Three Hundred & Fifty Five Only
luote	ed Rate in Figures		Select		0.00	INR Zero Only
Quote	ed Rate in Words			INF	R Zero Only	

18/08/2021 Executive Engineer Civil Engineering Division No.-III Sundarban Dev. Board Govt. of West Bengal Samila 13/01/2021





Schedule of work

Name of Work: Emergent Repairs & Protection Works of Existing C.C Road From Noapara Youth Club Towards Purba Noapara Rafik Molla's House(bamboo pilling), G.P- Sonapukur-Sankarpur, Block- Haroa, of Minakhan Sub-Division under Civil Engineering Division No-III,Sundarban Development Board. Length-545.00m. (Non Plan) NIT No.-05/EE/CED-III/SDB OF 2020-21 Dated:19.01.2021 SL No.06

SI.	Item Description	Quantity	Units	Estimated	TOTAL AMOUNT	TOTAL AMOUNT
1	2	4	5	6	53	55
1	Fine dressing and making the crest to correct camber and gtrade by cutting and filling earth where necessary including extra earth.	750.00	Sam	5.80	4350.00	INR Four Thousand Three Hundred & Fifty Only
2	Supplying, dressing and stacking at site bamboo pins above 5 cm. diameter and upto 7.5 cm. diameter. (Dia. to be measured at mid length).	6599.500	m	29.00	191386.00	INR One Lakh Ninety One Thousand Three Hundred & Eighty Six Only
3	Driving bamboo pins in standing or flowing water including scaffolding and driving appliances. (a) Where boats are not necessary.	3836.40	m	11.00	42200.00	INR Forty Two Thousand Two Hundred Only
4	Supplying, fitting and fixing with iron nails half split bamboo wailing pieces (av. dia. of bamboo not less than 5.0 cm.)	1360.00	m	22.00	29920.00	INR Twenty Nine Thousand Nine Hundred & Twenty Only
5	Supplying empty Cement bags in good condition.	7650.00	100 Nos	330.00	25245.00	INR Twenty Five Thousand Two Hundred & Forty Five Only
6	Filling empty Cement Bags with dry earth or sand, stitching the bag (cost of thread included) and carrying and placing them in position and all incidental charges complete but excluding cost of filling materials, (Earth or sand) and gunny bags.	7650.00	100 bags	350.00	26775.00	INR Twenty Six Thousand Seven Hundred & Seventy Five Only
7	Earthwork from borrow pits over existing embankment or for repairs to embankment, closing breaches etc. within an initial lead of 30 metre and lift of 1.50 metre including breaking clods and depositing the same in layers not exceeding 25 cm. and rough dressing etc. complete as per profile.	235.88	M3	81.00	19106.00	INR Nineteen Thousand One Hundred & Six Only
8	Earthwork in excavation in all kinds of soil for making embankments, repairs to the embankment, closing breaches etc. as per profile including supply and transporting the earth by truck or tractor or any other mechanical means on land , including loading, transporting, unloading and stacking with all lifts bothways and head load where necessary and depositing the same on embankments, clannels, filling depressions in requisite profile, levelling as per direction of the Engineer-in-charge within a lead of, NB :- Measurement to be taken on the basis of stack measurement / prepost work section measurement after deduction of void as per norms. No extra payment will be made for stacking A) Beyond 500Km and upto 1.00 km	401.62	м	218.00	87553.00	INR Eighty Seven Thousand Five Hundred & Fifty Three Only
9	GST as applicable - @ 12%	426535.00	Percent	12	51184.00	INR Fifty One Thousand One Hundred & Eighty Four Only
10	Labour Welfare cess - @ 1%	477719.00	Percent	1		INR Four Thousand Seven Hundred & Seventy Seven Only
Total	in Figures				482496.00	INR Four Lakh Eighty Two Thousand Four Hundred & Ninety Six Only
Quote	ed Rate in Figures		Select		0.00	INR Zero Only
Quote	ed Rate in Words			INF	R Zero Only	

har her 0 Executive Engineer Civil Engineering Division No.-III Sundarban Dev. Board Govt. of West Bengal Kawila 19/01/2021 Executive Engineer

Validate

Print Help

Schedule of work

Name of Work: Emergent Repair & Protection Work of Existing Concrete Road near purba Noapara Motiar Molla Gheri towards South Side of Bonobibi Tola Gheri(U.C pilling) in G.P. – Sonapukur Sankarpur, P.S. & Block - Haroa, of Minakhan Sub-Division under Civil Engineering Division No-III,Sundarban Development Board. Length- 425.00m. (Non Plan) NIT No.-05/EE/CED-III/SDB OF 2020-21 Dated:19.01.2021 SL No.07

SI.	Item Description	Quantity	Units	Estimated	TOTAL AMOUNT	TOTAL AMOUNT
1	2	4	5	6	53	55
1	Fine dressing and making the crest to correct camber and gtrade by cutting and filling earth where necessary including extra earth.	680.00	Sqm	5.80	3944.00	INR Three Thousand Nine Hundred & Forty Four Only
2	Supplying Jhaw / Eucalyptus bullah piles at work site, including dressing and making one end pointed. Note: Diameter of pile to be measured at a distance of 1.5m from the thicker end. (iii) 15 cm av. Diameter	1039.000	m	217.00	225463.00	INR Two Lakh Twenty Five Thousand Four Hundred & Sixty Three Only
3	Labour for driving Jhaw / Eucalyptus bullah piles by monkey in all sorts of soil including hoisting and placing piles in position, protecting the pile head with iron ring and cutting and shaping heads before and after driving and including hire and labour for necessary driving appliances and all tackles (iii) 15 cm av. Diameter	671.00	m	105.00	70455.00	INR Seventy Thousand Four Hundred & Fifty Five Only
4	Supplying, fitting and fixing with iron nails half split bullah wailing pieces and cross pieces etc. complete with cost of all materials and carriage to site. (a) Width of thinner end above 10 cm.and less than 15cm (i) Jhaw / Eucalyptus	239.00	m	104.00	24856.00	INR Twenty Four Thousand Eight Hundred & Fifty Six Only
5	Coal tarring on wooden surfaces including cost of materials b) Two Coat	252.00	m²	36.00	9072.00	INR Nine Thousand &Seventy Two Only
6	Supplying empty Cement bags in good condition.	3214.00	100 Nos	330.00	10606.00	INR Ten Thousand Six Hundred & Six Only
7	Filling empty Cement Bags with dry earth or sand, stitching the bag (cost of thread included) and carrying and placing them in position and all incidental charges complete but excluding cost of filling materials, (Earth or sand) and gunny bags.	3214.00	100 bags	350.00	11249.00	INR Eleven Thousand Twi Hundred & Forty Nine Onl
8	Earthwork from borrow pits over existing embankment or for repairs to embankment, closing breaches etc. within an initial lead of 30 metre and lift of 1.50 metre including breaking clods and depositing the same in layers not exceeding 25 cm. and rough dressing etc. complete as per profile.	123.00	M³	81.00	9963.00	INR Nine Thousand Nine Hundred & Sixty Three Only
9	Earthwork in excavation in all kinds of soil for making embankments, repairs to the embankment, closing breaches etc. as per profile including supply and transporting the earth by truck or tractor or any other mechanical means on land , including loading, transporting, unloading and stacking with all lifts bothways and head load where necessary and depositing the same on embankments, clannels, filling depressions in requisite profile, levelling as per direction of the Engineer-in-charge within a lead of, NB -: Measurement to be taken on the basis of stack measurement / prepost work section measurement after deduction of void as per norms. No extra payment will be made for stacking A) Beyond 500Km and upto 1.00 km	287.00	м	218.00	62566.00	INR Sixty Two Thousand Five Hundred & Sixty Six Only
10	GST as applicable - @ 12%	428174.00	Percent	12	51381.00	INR Fifty One Thousand Three Hundred & Eighty One Only
11	Labour Welfare cess - @ 1%	479555.00	Percent	I	4796.00	INR Four Thousand Sever Hundred & Ninety Six Only
Total	in Figures				484351.00	INR Four Lakh Eighty Fou Thousand Three Hundred Fifty One Only
Quote	d Rate in Figures		Select		0.00	INR Zero Only
Quote	ed Rate in Words			INF	Zero Only	

Blacker

Executive Engineer Civil Engineering Division No.-III Sundarban Dev. Board Govt. of West Bengal Samila

10

Validate

Print Help

Schedule of work

Name of Work: Emergent Repair & Protection Works of Existing C.C Road from Ninevent to Uttor Chotkay Ghayri (U.C pilling) in G.p- Sonapukur- Sankarpur, Block- Haroa , of Minakhan Sub-Division under Civil Engineering Division No-III,Sundarban Development Board. Length- 425.00m. (Non Plan) NIT No.-05/EE/CED-III/SDB OF 2020-21 Dated:19.01.2021 SL No.08

SI.	Item Description	Quantity	Units	Estimated	TOTAL AMOUNT	TOTAL AMOUNT
1	2	4	5	6	53	55
1	Fine dressing and making the crest to correct camber and gtrade by cutting and filling earth where necessary including extra earth.	850.00	Sqm	5.80	4930.00	INR Four Thousand Nine Hundred & Thirty Only
2	Supplying Jhaw / Eucalyptus bullah piles at work site, including dressing and making one end pointed. Note: Diameter of pile to be measured at a distance of 1.5m from the thicker end. (iii) 15 cm av. Diameter	1039.000	m	217.00	225463.00	INR Two Lakh Twenty Five Thousand Four Hundred & Sixty Three Only
3	Labour for driving Jhaw / Eucalyptus bullah piles by monkey in all sorts of soil including hoisting and placing piles in position, protecting the pile head with iron ring and cutting and shaping heads before and after driving and including hire and labour for necessary driving appliances and all tackles (iii) 15 cm av. Diameter	671.00	m	105.00	70455.00	INR Seventy Thousand Four Hundred & Fifty Five Only
4	Supplying, fitting and fixing with iron nails half split bullah wailing pieces and cross pieces etc. complete with cost of all materials and carriage to site. (a) Width of thinner end above 10 cm.and less than 15cm (i) Jhaw / Eucalyptus.	239.00	m	104.00	24856.00	INR Twenty Four Thousand Eight Hundred & Fifty Six Only
5	Coal tarring on wooden surfaces including cost of materials b) Two Coat	252.00	m²	36.00	9072.00	INR Nine Thousand &Seventy Two Only
6	Supplying empty Cement bags in good condition.	3214.00	100 Nos	330.00	10606.00	INR Ten Thousand Six Hundred & Six Only
7	Filling empty Cement Bags with dry earth or sand, stitching the bag (cost of thread included) and carrying and placing them in position and all incidental charges complete but excluding cost of filling materials, (Earth or sand) and gunny bags.	3214.00	100 bags	350.00	11249.00	INR Eleven Thousand Tw Hundred & Forty Nine Onl
8	Earthwork from borrow pits over existing embankment or for repairs to embankment, closing breaches etc. within an initial lead of 30 metre and lift of 1.50 metre including breaking clods and depositing the same in layers not exceeding 25 cm. and rough dressing etc. complete as per profile.	123.00	M ³	81.00	9963.00	INR Nine Thousand Nine Hundred & Sixty Three Only
9	Earthwork in excavation in all kinds of soil for making embankments, repairs to the embankment, closing breaches etc. as per profile including supply and transporting the earth by truck or tractor or any other mechanical means on land , including loading, transporting, unloading and stacking with all lifts bothways and head load where necessary and depositing the same on embankments, clannels, filling depressions in requisite profile, levelling as per direction of the Engineer-in-charge within a lead of. NB :- Measurement to be taken on the basis of stack measurement / prepost work section measurement after deduction of void as per norms. No extra payment will be made for stacking A) Beyond 500Km and upto 1.00 km	287.00	м	218.00	62566.00	INR Sixty Two Thousand Five Hundred & Sixty Six Only
10	GST as applicable - @ 12%	429160.00	Percent	12	51499.00	INR Fifty One Thousand Four Hundred & Ninety Nine Only
11	Labour Welfare cess - @ 1%	480659.00	Percent	1		INR Four Thousand Eight Hundred & Seven Only
ſotal	in Figures					INR Four Lakh Eighty Five Thousand Four Hundred & Sixty Six Only
Quote	d Rate in Figures		Select		0.00	INR Zero Only
Quote	ed Rate in Words	-		INF	Zero Only	L

Mayroll &

Executive Engineer Civil Engineering Division No.-III Sundarban Dev. Board Govt. of West Bengal Kamila 19 01 2021

Print Helo

Schedule of work

Tender Inviting Authority: WBSDB/EE/CED-III

Name of Work: Emergent Repair & Protection Work of Existing Concrete Road From Murgimari Tank towards North Side of Bonobibi Tola Gheri(U.C pilling) in G.P. - Sonapukur Sankarpur, P.S. & Block - Haroa, of Minakhan Sub-Division under Civil Engineering Division No-III, Sundarban Development Board. Length-425.00m. (Non Plan)

NIT No.-05/EE/CED-III/SDB OF 2020-21 Dated:19.01.2021 SL No.09

SI.	Item Description	Quantity	Units	Estimated	TOTAL AMOUNT	TOTAL AMOUNT
1	2	4	5	6	53	55
1	Fine dressing and making the crest to correct camber and gtrade by cutting and filling earth where necessary including extra earth.	680.00	Sqm	5.80	3944.00	INR Three Thousand Nine Hundred & Forty Four Only
2	Supplying Jhaw / Eucalyptus bullah piles at work site, including dressing and making one end pointed. Note: Diameter of pile to be measured at a distance of 1.5m from the thicker end. (iii) 15 cm av. Diameter	1039.000	m	217.00	225463.00	INR Two Lakh Twenty Five Thousand Four Hundred & Sixty Three Only
3	Labour for driving Jhaw / Eucalyptus bullah piles by monkey in all sorts of soil including hoisting and placing piles in position, protecting the pile head with iron ring and cutting and shaping heads before and after driving and including hire and labour for necessary driving appliances and all tackles (iii) 15 cm av. Diameter	671.00	m	105.00	70455.00	INR Seventy Thousand Four Hundred & Fifty Five Only
4	Supplying, fitting and fixing with iron nails half split bullah wailing pieces and cross pieces etc. complete with cost of all materials and carriage to site. (a) Width of thinner end above 10 cm.and less than 15cm (i) Jhaw / Eucalyptus.	239.00	m	104.00	24856.00	INR Twenty Four Thousand Eight Hundred & Fifty Six Only
5	Coal tarring on wooden surfaces including cost of materials b) Two Coat	252.00	m²	36.00	9072.00	INR Nine Thousand &Seventy Two Only
6	Supplying empty Cement bags in good condition.	3214.00	100 Nos	330.00	10606.00	INR Ten Thousand Six Hundred & Six Only
7	Filling empty Cement Bags with dry earth or sand, stitching the bag (cost of thread included) and carrying and placing them in position and all incidental charges complete but excluding cost of filling materials, (Earth or sand) and gunny bags.	3214.00	100 bags	350.00	11249.00	INR Eleven Thousand Two Hundred & Forty Nine Only
8	Earthwork from borrow pits over existing embankment or for repairs to embankment, closing breaches etc. within an initial lead of 30 metre and lift of 1.50 metre including breaking clods and depositing the same in layers not exceeding 25 cm. and rough dressing etc. complete as per profile.	118.90	Mª	81.00	9631.00	INR Nine Thousand Six Hundred & Thirty One Only
9	Earthwork in excavation in all kinds of soil for making embankments, repairs to the embankment, closing breaches etc. as per profile including supply and transporting the earth by truck or tractor or any other mechanical means on land , including loading, transporting, unloading and stacking with all lifts bothways and head load where necessary and depositing the same on embankments, clannels, filling depressions in requisite profile, levelling as per direction of the Engineer-in-charge within a lead of. NB - Measurement to be taken on the basis of stack measurement / prepost work section measurement after deduction of void as per norms. No extra payment will be made for stacking A) Beyond 500Km and upto 1.00 km	291.10	м	218.00	63460.00	INR Sixty Three Thousand Four Hundred & Sixty Only
10	GST as applicable - @ 12%	428736.00	Percent	12	51448.00	INR Fifty One Thousand Four Hundred & Forty Eight Only
11	Labour Welfare cess - @ 1%	480184.00	Percent	1		INR Four Thousand Eight Hundred & Two Only
Total	in Figures					INR Four Lakh Eighty Four Thousand Nine Hundred & Eighty Six Only
Quote	ed Rate in Figures		Select		0.00	INR Zero Only
Quote	ed Rate in Words			INR	Zero Only	

19/21/ 10/

Executive Engineer Civil Engineering Division No.-III Sundarban Dev. Board Govt. of West Bengal Karwela 19101/2021